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ii) /BAE = /BAC + £CAD + /DAE
=30°+30°4+30°=90°




/N N
¥ 0 oA 50ptAB = 5.0ptBC ©] 1L
(ABC = 140° ¥ ©, LADB = ( )°
ot ( )oll 4ek-2 & Fstoiet.

> =
> F=E: 20
/ADC = 40°

N N
LADB = /BDC(" 5.0ptAB = 5.0ptBC)
- /ADB = 20°




e TN £ HE, F e 5 90 wHelth kg 4%
ore Ae 7

@ (FAB = /FEC @ (FDC = /FEB
@) AFE+ ECD = 180° @ AB//CD

® (FEC + (FDC = 180°

~&B

©)
B Z}-& 0]-85}to] LAFE = 180° — (EFD ©] 1

ut2tA /AFE = /ECD o]t}

oECDF & o] WHst22 /ECD = 180° — /EFD ©o|t},




cosA = % ol 7H7Fe ABC oA sin A x
tan A ©] 2+ Fatole}. (2 0° < A < 90°

)

it

\VARR 4
0
o

o0

B ~

AC 1 R — 1
S OEE = = = = o .
cos A = =3 ] AC = AB xcos A 9><3 3 o]tk

metets el o3 BC = V92 -32 = V72 =6v2 °|th,

= sin A =
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8. Tz 139 aABC oA A0 o 5 Hil g O] = 3

T sin = cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
45° 0.7071 0.7071 1,0000
46° 0.7193 0.6947 1,0355
47° 0.7314 0.6821 1.0724
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a= 20X cos47° = 13.642
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2 AQ = QC = 8(cm)

a9 /QPC =90° - /QPA = 90° - /QAP = /QCP
w2hA, AQPC £ |5 HAZIFE | BER PQ = QC °|t
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L/APS = /ACP = 72°
/SPD = /DBP = 83°

oo Lx = 180° — (72° 4 83°) = 25°
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A
x L.
0] B Dz
I3 sinT cosz tanz
43° 0.6820 0.7314 0.9325
44° 0.6947 0.7193 0.9657
45° 0,7071 0,7071 1,0000
46° 0.7193 0.6947 1.0355
47° 0.7314 0.6821 1.0724
(@)0.6821 @ 0.6947 @ 0.7193
@ 0.7314 ® 0.9325

B

D
1) tanx = C= =
OD

Sox=47°

B
2) cosx = OB _ OB _ osa7° = 0.6821
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23. o 294 PC & ¥9] HAola PB &= Aol P = 30°,
PA = 8cm, PC = 12cm ¥ ©, AABC ¢] Yo]& F#5}ojt.
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@® 28 @ 29 (@)30 @ 31 ® 32

PC?2 = PA xPB, 144 =8xPB
C_H:12sin30°:12x%:6(cm)
PB =18(cm) AB=18-8=10(cm)

(AABC &1 §ol)=10x 6 x 5 =30 (cm?)
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2x? 4+ 20x + 52 = 100
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